ORIGINAL PAPER



Exact and soliton solutions to nonlinear transmission line model

M. M. El-Borai · H. M. El-Owaidy · H. M. Ahmed · A. H. Arnous

Received: 28 July 2016 / Accepted: 5 September 2016 / Published online: 16 September 2016 © Springer Science+Business Media Dordrecht 2016

Abstract A nonlinear transmission line (NLTL) is comprised of a transmission line periodically loaded with varactors, where the capacitance nonlinearity arises from the variable depletion layer width, which depends both on the DC and AC voltages of the propagating wave. An equivalent circuit model of NLTL is discussed analytically, in this article, and different type of solutions are celebrated. The improved extended tanh-function method has been applied successfully to extract the solutions. The obtained solutions are solitary wave solutions, singular periodic solutions, singular soliton solutions, Jacobi elliptic doubly periodic type solutions and Weierstrass elliptic doubly periodic type solutions. It is a very convenient tool to study the propagation of electrical solitons which propagate in the form of voltage waves in nonlinear dispersive media.

Keywords Exact solutions \cdot Solitons \cdot Nonlinear transmission line

M. M. El-Borai Department of Mathematics, Faculty of Science, Alexandria University, Alexandria, Egypt

H. M. El-Owaidy Department of Mathematics, Faculty of Science, Al-Azhar University, Cairo, Egypt

H. M. Ahmed · A. H. Arnous (⊠) Department of Engineering Mathematics and Physics, Higher Institute of Engineering, El Shorouk, Cairo, Egypt e-mail: ahmed.h.arnous@gmail.com

1 Introduction

Nonlinear phenomena can be observed in many areas such as physics, chemistry, biology, ocean engineering, and communication engineering. In physics precisely, nonlinearity is present in fluid dynamics, nonlinear optics, plasma physics, communication technology and so on [1–16]. In order to understand the mechanisms of those physical phenomena which can be described by nonlinear evolution equations (NLEEs), it is necessary to explore their solutions and properties. At the present time, there are many powerful methods for seeking the exact and approximated solutions of these NLEEs, such as inverse scattering method [17, 18], Hirota bilinear transformation [19], the modified simple equation method [20,21], the (G'/G)—expansion method [22], the trial equation method [23] and many more.

In communication engineering, a transmission line is a specialized medium or other structure designed to carry alternating current of radio frequency, that is, currents with a frequency high enough that their wave nature must be taken into account. Transmission lines are used for purposes such as connecting radio transmitters and receivers with their antennas, distributing cable television signals, trunklines routing calls between telephone switching centers, computer network connections and high speed computer data buses.

In this paper, we apply the improved extended tanhfunction method to seek the soliton wave solutions in a NLTL. The NLTLs are very convenient tools to study





the propagation of electrical solitons which can propagate in the form of voltage waves in nonlinear dispersive media. The NLTL model used in this work is shown in Fig. 1 using inductors ℓ , and voltage dependent (and hence nonlinear) capacitors, c(V). By applying Kirchhoff current law at node n, whose voltage with respect to ground is V_n , and applying Kirchhoff voltage law across the two inductors connected to this node, the voltages of adjacent nodes on this NLTL are related via:

$$\ell \frac{d}{dt} \left[c(V_n) \frac{dV_n}{dt} \right] = (V_{n+1} + V_{n-1} - 2V_n).$$
(1.1)

The right-hand side of (1.1) can be approximated with partial derivatives with respect to distance *x*, from the beginning of the line, assuming that the spacing between two adjacent sections is δ (i.e., $x_n = n\delta$). An approximate continuous partial differential equation can be obtained by using the Taylor expansions of $V(x - \delta)$, V(x), and $V(x + \delta)$ to evaluate the righthand side of (1.1). Assuming a small δ , and ignoring the high order terms, we obtain:

$$L\frac{\partial}{\partial t}\left[C(V)\frac{\partial V}{\partial t}\right] = \frac{\partial^2 V}{\partial x^2} + \frac{\delta^2}{12}\frac{\partial^4 V}{\partial x^4},\tag{1.2}$$

where C and L are the capacitance and inductance per unit length, respectively. For more detail see also [10].

2 Description of the method

In this section, we outline the main steps of the improved extended tanh-equation method as following:

Suppose that we have a nonlinear evolution equation in the form:

$$F(u, u_t, u_x, u_{xx}, u_{xt}, \ldots) = 0, \qquad (2.1)$$

where u = u(x, t) is an unknown function, *F* is a polynomial in *u* and its various partial derivatives u_t , u_x with respect to *t*, *x*, respectively, in which the highest order derivatives and nonlinear terms are involved.

Step 1. Using the traveling wave transformation

$$u(x,t) = U(\xi), \quad \xi = k(x - vt),$$
 (2.2)

where k, c are constant to be determined later. Then, Eq. (2.1) is reduced to a nonlinear ordinary differential equation of the form

$$P\left(U, -kvU', kU', k^{2}U'', \ldots\right) = 0, \qquad (2.3)$$

Step 2. We assume that the solution of Eq. (2.3) can be expressed in the form

$$U(\xi) = \sum_{i=0}^{N} \alpha_{i} \omega^{i} + \sum_{i=1}^{N} \beta_{i} \omega^{-i}, \qquad (2.4)$$

where ω satisfies

$$\omega' = \varepsilon \sqrt{a_0 + a_1 \omega + a_2 \omega^2 + a_3 \omega^3 + a_4 \omega^4}, \qquad (2.5)$$

where $\varepsilon = \pm 1$. This equation gives various kinds of fundamental solutions [15]. From these solutions, more new exact solutions for (2.1) can be obtained.

Step 3. Determine the positive integer number *N* in Eq. (2.4) by balancing the highest order derivatives and the nonlinear terms in Eq. (2.3).

Step 4. Substitute (2.4) into (2.3) along with (2.5). As a result of this substitution, we get a polynomial of ω . In this polynomial, we gather all terms of same powers and equating them to be zero, we get an overdetermined system of algebraic equations which can be solved by the maple or mathematica to get the unknown parameters k, v, α_0 , α_i and β_i (i = 1, 2, ...). Consequently, we obtain the exact solutions of (2.1).

3 Exact and soliton solutions

In this section, the improved extended tanh-function method is applied to our NLTL model. To this end, we approximate the capacitor's voltage dependence using the following first-order linear relationship

$$C(V) = C_0(1 - bV), (3.1)$$

where C_0 and b are arbitrary constants. In this case, Eq. (1.2) reduces to

$$\frac{\partial^2 V}{\partial t^2} - \frac{b}{2} \frac{\partial^2 V^2}{\partial t^2} = \frac{1}{LC_0} \frac{\partial^2 V}{\partial x^2} + \frac{\delta^2}{12LC_0} \frac{\partial^4 V}{\partial x^4}.$$
 (3.2)

Introduce the voltage in the form of the traveling wave

$$V(x,t) = V(\xi), \quad \xi = x - vt$$
 (3.3)

where v represent the velocity of propagation. Then, Eq. (3.2) reduces to the following ODE:

$$\frac{\delta^2}{12LC_0}V'''' + \left(\frac{1}{LC_0} - v^2\right)V'' + \frac{bv^2}{2}\left(V^2\right)'' = 0.$$
(3.4)

Integrating Eq. (3.4) twice with zero constants of integration, we obtain

$$\frac{\delta^2 v_0^2}{12} V'' + \left(v_0^2 - v^2\right) V + \frac{bv^2}{2} V^2 = 0, \qquad (3.5)$$

where $v_0 = \frac{1}{\sqrt{LC_0}}$.

Balancing V'' with V^2 in Eq. (3.5), then we get N = 2. Then, the solution of Eq. (3.5) has the form

$$V(\xi) = \alpha_0 + \alpha_1 \omega + \alpha_2 \omega^2 + \beta_1 \omega^{-1} + \beta_2 \omega^{-2}.$$
 (3.6)

Substituting $V(\xi)$ and its derivatives with (2.5) into (3.5) and equating all the coefficients of ω^j , $j \in$ [-4, 4] to be zero, then we obtain a system of algebraic equations. Solving this system via mathematica and consider the various kinds of fundamental solutions [15], we obtain the following cases which leads to different types of wave propagation of our model (Eq. 3.2)

Case 1: $a_0 = a_1 = a_3 = 0$. We have the following results

$$\alpha_0 = \alpha_1 = \beta_1 = \beta_2 = 0,$$

$$a_2 = \frac{3\left(v^2 - v_0^2\right)}{\delta^2 v_0^2}, \quad \alpha_2 = -\frac{a_4 \delta^2 v_0^2}{v^2 b}.$$
(3.7)

and

$$\alpha_{0} = \frac{2\left(v^{2} - v_{0}^{2}\right)}{v^{2}b}, \quad \alpha_{1} = \beta_{1} = \beta_{2} = 0,$$

$$a_{2} = -\frac{3\left(v^{2} - v_{0}^{2}\right)}{\delta^{2}v_{0}^{2}}, \quad \alpha_{2} = -\frac{a_{4}\delta^{2}v_{0}^{2}}{v^{2}b}.$$
 (3.8)

We obtain, solitary wave solutions, singular periodic solutions and rational solution

$$V(\xi) = \frac{3\left(v^2 - v_0^2\right)}{v^2 b} \sec h^2 \left[\frac{\sqrt{3\left(v^2 - v_0^2\right)}}{\delta v_0}(x - vt)\right],$$
$$v^2 > v_0^2, \tag{3.9}$$

$$V(\xi) = \frac{3\left(v^2 - v_0^2\right)}{v^2 b} \sec^2 \left[\frac{\sqrt{3\left(v_0^2 - v^2\right)}}{\delta v_0}(x - vt)\right],$$
$$v^2 < v_0^2, \tag{3.10}$$

$$V(\xi) = \frac{-\delta^2}{b} \frac{1}{(x - vt)^2},$$

$$v^2 = v_0^2$$
(3.11)

and

$$V(\xi) = \frac{v^2 - v_0^2}{v^2 b} \left(2 - 3 \operatorname{sec} h^2 \left[\frac{\sqrt{3 (v_0^2 - v^2)}}{\delta v_0} (x - vt) \right] \right),$$

$$v^2 < v_0^2, \qquad (3.12)$$

$$V(\xi) = \frac{v^2 - v_0^2}{v^2 b} \left(2 - 3 \operatorname{sec}^2 \left[\frac{\sqrt{3 (v^2 - v_0^2)}}{\delta v_0} (x - vt) \right] \right),$$

$$v^2 > v_0^2, \qquad (3.13)$$

$$V(\xi) = \frac{3 (v^2 - v_0^2)}{v^2 b} - \frac{\delta^2 v_0^2}{v^2 b} \frac{1}{(x - vt)^2},$$

$$v^2 = v_0^2. \qquad (3.14)$$

Case 2:

(i)
$$a_1 = a_3 = 0, a_0 = \frac{a_2^2}{4a_4}$$
. We have
 $\alpha_1 = \alpha_2 = \beta_1 = 0, a_0 = \frac{a_2^2}{4a_4}, \quad \alpha_0 = \frac{3\left(v^2 - v_0^2\right)}{v^2 b},$
 $\beta_2 = -\frac{9\left(v^2 - v_0^2\right)^2}{v^2 \delta^2 a_4 b v_0^2}, \quad a_2 = \frac{6\left(-v^2 + v_0^2\right)}{\delta^2 v_0^2}.$ (3.15)

Deringer

We obtain, singular soliton solution and singular periodic solution

$$V(\xi) = \frac{3\left(v_0^2 - v^2\right)}{v^2 b} \operatorname{csch}^2 \left[\frac{\sqrt{3\left(v^2 - v_0^2\right)}}{\delta v_0}(x - vt)\right],$$

$$v^2 > v_0^2, \qquad (3.16)$$

$$V(\xi) = \frac{3\left(v^2 - v_0^2\right)}{v^2 b} \operatorname{csc}^2 \left[\frac{\sqrt{3\left(v_0^2 - v^2\right)}}{\delta v_0}(x - vt)\right],$$

$$v^2 < v_0^2. \qquad (3.17)$$

(ii)
$$a_1 = a_3 = 0, a_0 = \frac{a_2^2 m^2 (1-m^2)}{a_4 (2m^2 - 1)^2}$$
. We have

$$\alpha_{1} = \alpha_{2} = \beta_{1} = 0, \quad \alpha_{0} = \frac{3\left(v^{2} - v_{0}^{2}\right) - a_{2}\delta^{2}v_{0}^{2}}{3v^{2}b},$$

$$\beta_{2} = \frac{9m^{2}\left(-1 + m^{2}\right)\left(v^{2} - v_{0}^{2}\right)^{2}}{\left(1 - 7m^{2} + 7m^{4}\right)v^{2}\delta^{2}a_{4}bv_{0}^{2}},$$

$$a_{2} = -\frac{3\left(1 - 2m^{2}\right)\left(v^{2} - v_{0}^{2}\right)}{\sqrt{\left(1 - 7m^{2} + 7m^{4}\right)}\delta^{2}v_{0}^{2}},$$
(3.18)

and

$$\alpha_{0} = \frac{3\left(v^{2} - v_{0}^{2}\right) - a_{2}\delta^{2}v_{0}^{2}}{3v^{2}b}, \quad \alpha_{1} = \beta_{1} = \beta_{2} = 0,$$

$$\alpha_{2} = -\frac{\delta^{2}a_{4}v_{0}^{2}}{v^{2}b},$$

$$a_{2} = -\frac{3\left(1 - 2m^{2}\right)\left(v^{2} - v_{0}^{2}\right)}{\sqrt{\left(1 - 7m^{2} + 7m^{4}\right)}\delta^{2}v_{0}^{2}}.$$
(3.19)

We obtain, Jacobi elliptic doubly periodic type solutions

$$V(\xi) = \frac{\left(v^2 - v_0^2\right)}{v^2 b} \left(1 + \frac{1 - 2m^2}{\sqrt{1 - 7m^2 + 7m^4}} + \frac{3(1 - m^2)}{\sqrt{1 - 7m^2 + 7m^4}} \operatorname{nc}^2 \times \left[\xi \sqrt{\frac{3\left(v^2 - v_0^2\right)}{\sqrt{1 - 7m^2 + 7m^4}\delta^2 v_0^2}}\right]\right)$$
(3.20)

🖄 Springer

and

$$V(\xi) = \frac{(v^2 - v_0^2)}{v^2 b} \left(1 + \frac{1 - 2m^2}{\sqrt{1 - 7m^2 + 7m^4}} + \frac{3m^2}{\sqrt{1 - 7m^2 + 7m^4}} \operatorname{cn}^2 \times \left[\xi \sqrt{\frac{3(v^2 - v_0^2)}{\sqrt{1 - 7m^2 + 7m^4}\delta^2 v_0^2}} \right] \right),$$
(3.21)

(iii) $a_1 = a_3 = 0, a_0 = \frac{a_2^2(1-m^2)}{a_4(2-m^2)^2}$. We have

$$\alpha_{1} = \beta_{1} = \beta_{2} = 0, \quad \alpha_{0} = \frac{3\left(v^{2} - v_{0}^{2}\right) - a_{2}\delta^{2}v_{0}^{2}}{3v^{2}b},$$

$$\alpha_{2} = -\frac{\delta^{2}a_{4}v_{0}^{2}}{v^{2}b},$$

$$\alpha_{2} = \frac{3\left(-2 + m^{2}\right)\left(v^{2} - v_{0}^{2}\right)}{\sqrt{1 - m^{2} + m^{4}}\delta^{2}v_{0}^{2}}$$
(3.22)

and

$$\alpha_{0} = \frac{3\left(v^{2} - v_{0}^{2}\right) - a_{2}\delta^{2}v_{0}^{2}}{3v^{2}b}, \quad \alpha_{1} = \alpha_{2} = \beta_{1} = 0,$$

$$\beta_{2} = \frac{9\left(-1 + m^{2}\right)\left(v^{2} - v_{0}^{2}\right)^{2}}{\left(1 - m^{2} + m^{4}\right)v^{2}\delta^{2}a_{4}bv_{0}^{2}},$$

$$a_{2} = \frac{3\left(-2 + m^{2}\right)\left(v^{2} - v_{0}^{2}\right)}{\sqrt{1 - m^{2} + m^{4}}\delta^{2}v_{0}^{2}}.$$
(3.23)

We obtain

$$V(\xi) = 2 - m^{2} \left(1 + \frac{m^{2}}{2 - m^{2}} \delta^{2} dn^{2} \right)$$
$$\times \left[\xi \sqrt{\frac{3 (v_{0}^{2} - v^{2})}{\sqrt{1 - m^{2} + m^{4}} \delta^{2} v_{0}^{2}}} \right] v_{0}^{2}$$
$$- \frac{(-2 + m^{2})}{\sqrt{1 - m^{2} + m^{4}}} \right)$$
(3.24)

and

$$V(\xi) = \frac{(v^2 - v_0^2)}{v^2 b} \left(1 + \frac{2 - m^2}{\sqrt{1 - m^2 + m^4}} + \frac{9(m^2 - 2)(m^2 - 1)(v^2 - v_0^2)}{m^2(1 - m^2 + m^4)\delta^2 v_0^2} \operatorname{nd}^2 \times \left[\sqrt{3}\xi \sqrt{\frac{-v^2 + v_0^2}{\sqrt{1 - m^2 + m^4}\delta^2 v_0^2}} \right] \right).$$
(3.25)

(iv) $a_1 = a_3 = 0, a_0 = \frac{a_2^2 m^2}{a_4 (m^2 + 1)^2}$. We have

$$\alpha_{1} = \beta_{1} = \beta_{2} = 0, \quad \alpha_{0} = \frac{(v^{2} - v_{0}^{2})}{v^{2}b_{1}} - \frac{\delta^{2}v_{0}^{2}a_{2}}{3v^{2}b},$$

$$\alpha_{2} = -\frac{\delta^{2}a_{4}v_{0}^{2}}{v^{2}b},$$

$$a_{2} = \frac{3(1 + m^{2})(v^{2} - v_{0}^{2})}{\sqrt{1 - m^{2} + m^{4}\delta^{2}v_{0}^{2}}}$$
(3.26)

and

$$\begin{aligned} \alpha_0 &= \frac{\left(v^2 - v_0^2\right)}{v^2 b} - \frac{\delta^2 v_0^2 a_2}{3v^2 b}, \quad \alpha_1 = 0, \quad \alpha_2 = 0, \quad \beta_1 = 0, \\ \beta_2 &= -\frac{9m^2 \left(v^2 - v_0^2\right)^2}{\left(1 - m^2 + m^4\right) v^2 \delta^2 a_4 b v_0^2}, \\ a_2 &= \frac{3 \left(v^2 - v_0^2\right) \left(1 + m^2\right)}{\sqrt{1 - m^2 + m^4} \delta^2 v_0^2}. \end{aligned}$$
(3.27)

We obtain

$$V(\xi) = \frac{(v^2 - v_0^2)}{v^2 b} \left(1 - \frac{1 + m^2}{\sqrt{1 - m^2 + m^4}} + \frac{3m^2}{\sqrt{1 - m^2 + m^4}} \operatorname{sn}^2 \times \left[\xi \sqrt{\frac{3(v_0^2 - v^2)}{\sqrt{1 - m^2 + m^4} \delta^2 v_0^2}} \right] \right) \quad (3.28)$$

and

$$V(\xi) = \frac{(v^2 - v_0^2)}{v^2 b} \left(1 - \frac{1 + m^2}{\sqrt{1 - m^2 + m^4}} + \frac{3}{\sqrt{1 - m^2 + m^4}} ns^2 \times \left[\xi \sqrt{\frac{3(v_0^2 - v^2)}{\sqrt{1 - m^2 + m^4} \delta^2 v_0^2}} \right] \right). (3.29)$$

Case 3: $a_2 = a_4 = 0, a_0, a_1 \neq 0$. We have

$$\alpha_{0} = \frac{\left(v^{2} - v_{0}^{2}\right)\left(7 + \sqrt{21}\right)}{7v^{2}b}, \quad \alpha_{1} = \alpha_{2} = 0, \\
\beta_{2} = -\sqrt{\frac{7}{48}} \frac{v^{2}b\beta_{1}^{2}}{\left(v^{2} - v_{0}^{2}\right)}, \\
a_{0} = \sqrt{\frac{7}{48}} \frac{v^{4}b^{2}\beta_{1}^{2}}{\delta^{2}v_{0}^{2}\left(v^{2} - v_{0}^{2}\right)}, \quad a_{1} = -\frac{2v^{2}b\beta_{1}}{\delta^{2}v_{0}^{2}}, \\
a_{3} = \frac{48\left(v^{2} - v_{0}^{2}\right)^{2}}{7v^{2}\delta^{2}bv_{0}^{2}\beta_{1}}.$$
(3.30)

We obtain Weierstrass elliptic doubly periodic type solution

$$V(\xi) = \frac{\left(7 + \sqrt{21}\right) \left(v^2 - v_0^2\right)}{7v^2 b} + \beta_1 \left(\wp \left(\frac{\sqrt{a_3}}{2}\xi; g_2, g_3\right)\right)^{-1} - \frac{\sqrt{\frac{7}{3}}v^2 b \beta_1^2}{4 \left(v^2 - v_0^2\right)} \left(\wp \left(\frac{\sqrt{a_3}}{2}\xi; g_2, g_3\right)\right)^{-2},$$
(3.31)

where

$$g_2 = \frac{7v^4 b^2 \beta_1^2}{6(v^2 - v_0^2)^2}, \quad g_3 = -\frac{7\sqrt{\frac{7}{3}}v^6 b^3 \beta_1^3}{48(v^2 - v_0^2)^3}.$$
 (3.32)

-

Case 4:
$$a_3 = a_4 = 0, a_0 = \frac{a_1^2}{4a_2}$$
. We have

$$\begin{aligned} \alpha_0 &= 0, \quad \alpha_1 = 0, \quad \alpha_2 = 0, \\ \beta_1 &= -\frac{\delta^2 a_1 v_0^2}{2v^2 b}, \\ \beta_2 &= \frac{\delta^4 a_1^2 v_0^4}{48v^2 b \left(-v^2 + v_0^2\right)}, \\ a_2 &= -\frac{12\left(-v^2 + v_0^2\right)}{\delta^2 v_0^2} \end{aligned}$$
(3.33)

and

$$\alpha_{0} = \frac{2\left(v^{2} - v_{0}^{2}\right)}{v^{2}b}, \quad \alpha_{1} = 0, \quad \alpha_{2} = 0, \quad \beta_{1} = -\frac{\delta^{2}a_{1}v_{0}^{2}}{2v^{2}b},$$

$$\beta_{2} = -\frac{\delta^{4}a_{1}^{2}v_{0}^{4}}{48v^{2}b\left(-v^{2} + v_{0}^{2}\right)}, \quad a_{2} = \frac{12\left(-v^{2} + v_{0}^{2}\right)}{\delta^{2}v_{0}^{2}}.$$

(3.34)

We obtain two exponential type solutions

$$V(\xi) = -\frac{288e^{\left(\frac{2\varepsilon\sqrt{3(v^2-v_0^2)}}{v_0\delta}\right)\xi}\delta^2 v_0^2 a_1 (v^2 - v_0^2)^2}}{v^2 b \left(24e^{\left(\frac{2\varepsilon\sqrt{3(v^2-v_0^2)}}{v_0\delta}\right)\xi} (v_0^2 - v^2) + \delta^2 v_0^2 a_1\right)^2}$$
(3.35)

Deringer

and

$$V(\xi) = \frac{96 \left(v^2 - v_0^2\right)}{48v^2 b} + \frac{\delta^4 a_1^2 v_0^4}{48v^2 b \left(v^2 - v_0^2\right) \left(e^{\left(\frac{2\varepsilon\sqrt{3}(v_0^2 - v^2)}{v_0\delta}\right)\xi} + \frac{\delta^2 v_0^2 a_1}{24(v^2 - v_0^2)}\right)^2} - \frac{\delta^2 v_0^2 a_1}{2v^2 b \left(e^{\left(\frac{2\varepsilon\sqrt{3}(v_0^2 - v^2)}{v_0\delta}\right)\xi} + \frac{\delta^2 v_0^2 a_1}{24(v^2 - v_0^2)}\right)}.$$
 (3.36)

Case 5: (i) $a_0 = a_1 = 0$. We have

$$\alpha_{0} = \frac{2\left(v^{2} - v_{0}^{2}\right)}{v^{2}b}, \quad \alpha_{1} = 0, \ \beta_{1} = 0, \quad \beta_{2} = 0,$$
$$a_{2} = \frac{3\left(1 - \frac{v^{2}}{v_{0}^{2}}\right)}{\delta^{2}}, \quad a_{3} = 0, \ a_{4} = -\frac{v^{2}b\alpha_{2}}{\delta^{2}v_{0}^{2}} \quad (3.37)$$

and

$$\begin{aligned} \alpha_0 &= \frac{2\left(v^2 - v_0^2\right)}{v^2 b}, \quad \alpha_2 &= \frac{v^2 b \alpha_1^2}{12\left(v^2 - v_0^2\right)}, \\ \beta_1 &= 0, \quad \beta_2 &= 0, \\ a_2 &= -\frac{12\left(v^2 - v_0^2\right)}{\delta^2 v_0^2}, \\ \alpha_1 &= -\frac{\delta^2 v_0^2 a_3}{2v^2 b}, \quad a_4 &= -\frac{v^4 b^2 \alpha_1^2}{12\delta^2 v_0^2 \left(v^2 - v_0^2\right)}. \end{aligned}$$
(3.38)

We obtain singular periodic and soliton type solutions

$$V(\xi) = \frac{v^2 - v_0^2}{v^2 b} \left(2 - 3\csc^2 \left[\frac{\sqrt{3(v^2 - v_0^2)}}{\delta v_0}(x - vt) \right] \right),$$

$$v^2 > v_0^2,$$

$$V(\xi) = \frac{v^2 - v_0^2}{v^2 b} \left(2 + 3\operatorname{csch}^2 \left[\frac{\sqrt{3(v_0^2 - v^2)}}{\delta v_0}(x - vt) \right] \right),$$

$$v_0^2 > v^2$$
(3.40)

and

$$V(\xi) = \frac{\left(v^2 - v_0^2\right)}{v^2 b} \left(2 + \frac{3\operatorname{sech}\left[\frac{\sqrt{3(v_0^2 - v^2)}}{\delta v_0}\xi\right]^4}{\left(1 - \varepsilon \tanh\left[\frac{\sqrt{3(v_0^2 - v^2)}}{\delta v_0}\xi\right]\right)^2} - \frac{6\operatorname{sech}\left[\frac{\sqrt{3(v_0^2 - v^2)}}{\delta v_0}\xi\right]^2}{1 - \varepsilon \tanh\left[\frac{\sqrt{3(v_0^2 - v^2)}}{\delta v_0}\xi\right]}\right)$$
(3.41)
(ii) $a_0 = a_1 = 0, a_2 = 2\varepsilon \sqrt{a_2 a_2}$ We have

$$\alpha_{0} = \frac{2(v^{2} - v_{0}^{2})}{v^{2}b}, \quad \alpha_{1} = -\frac{\delta^{2}v_{0}^{2}a_{3}}{2v^{2}b},$$

$$\alpha_{2} = -\frac{\delta^{2}a_{4}v_{0}^{2}}{v^{2}b}, \quad \beta_{1} = 0, \beta_{2} = 0,$$

$$a_{2} = -\frac{12(v^{2} - v_{0}^{2})}{\delta^{2}v_{0}^{2}}, \quad a_{3} = -\frac{4\sqrt{3a_{4}(v_{0}^{2} - v^{2})}}{\delta v_{0}}$$
(3.42)

and

$$\alpha_{0} = 0, \quad \alpha_{1} = -\frac{\delta^{2} v_{0}^{2} a_{3}}{2 v^{2} b}, \quad \alpha_{2} = -\frac{\delta^{2} a_{4} v_{0}^{2}}{v^{2} b},$$

$$\beta_{1} = 0, \quad \beta_{2} = 0, \quad a_{2} = \frac{12 (v^{2} - v_{0}^{2})}{\delta^{2} v_{0}^{2}},$$

$$a_{3} = -\frac{4 \sqrt{3a_{4} (v^{2} - v_{0}^{2})}}{\delta v_{0}}.$$
(3.43)

We obtain

$$V(\xi) = \frac{(v^2 - v_0^2)}{v^2 b} \left(2 - 6\varepsilon \left(1 + \tanh\left[\frac{\sqrt{3(v_0^2 - v^2)}}{v_0 \delta}\xi\right] \right) + 3 \left(1 + \tanh\left[\frac{\sqrt{3(v_0^2 - v^2)}}{v_0 \delta}\xi\right] \right)^2 \right)$$
(3.44)

and

$$V(\xi) = \frac{3\varepsilon \left(v^2 - v_0^2\right)}{v^2 b} \left(1 + \tanh\left[\frac{\sqrt{3\left(v^2 - v_0^2\right)}}{v_0 \delta}\xi\right]\right) \times \left(2 - \varepsilon \left(1 + \tanh\left[\frac{\sqrt{3\left(v^2 - v_0^2\right)}}{v_0 \delta}\xi\right]\right)\right).$$
(3.45)

4 Conclusions

In communication engineering, a transmission line is a specialized medium to carry the signals in wave form. It is a very convenient tool to study the propagation of electrical solitons which propagate in the form of voltage waves in nonlinear dispersive media. So, it is important to study the NLTL model analytically and discuss the type of solutions. Thus, the improved extended tanh-function method has been applied successfully to construct the solitary wave solutions, singular periodic solutions, singular soliton solutions, Jacobi elliptic doubly periodic type solutions.

References

- Arnous, A.H., Mirzazadeh, M., Eslami, M.: Exact solutions of the Drinfel'd–Sokolov–Wilson equation using the Bäcklund transformation of Riccati equation and trial function approach. Pramana J. Phys. 86(6), 1153–1160 (2016)
- Mirzazadeh, M., Eslami, M., Arnous, A.H.: Dark optical solitons of Biswas–Milovic equation with dual-power law nonlinearity. Eur. Phys. J. Plus 130(4), 1–7 (2015)
- Younis, M., Rizvi, S.T.R., Ali, S.: Analytical and soliton solutions: Ionlinear model of nanobioelectronics transmission lines. Appl. Math. Comput. 265, 994–1002 (2015)
- Sekulic, D.L., Sataric, M.V., Zivanov, M.B.: Symbolic computation of some new nonlinear partial differential equations of nanobiosciences using modified extended tanh-function method. Appl. Math. Comput. 218, 3499–3506 (2011)
- Sekulic, D.L., Sataric, M.V.: Protein-based nanobioelectronics transmission lines. In: Proceedings of the 28th International Conference on Microelectronics (MIEL12), IEEE, pp. 215–218. Nis (2012)
- Sardar, A., Husnine, S.M., Rizvi, S.T.R., Younis, M., Ali, K.: Multiple travelling wave solutions for electrical transmission line model. Nonlin. Dyn. 82(3), 1317–1324 (2015)
- Younis, M., Ali, S.: Solitary wave and shock wave solitons to the transmission line model for nano-ionic currents along microtubules. Appl. Math. Comput. 246, 460–463 (2014)
- El-Borai, M.M.: Exact solutions for some nonlinear fractional parabolic fractional partial differential equations. J Appl. Math. Comput. 206, 141–153 (2008)
- El-Borai, M.M., Zaghrout, A.A., Elshaer, A.L.: Exact solutions for nonlinear partial differential equations by using the extended multiple Riccati equations expansion method. Int. J. Res. Rev. Appl. Sci. 9(3), 370–381 (2011)

- Afshari, E., Hajimiri, A.: Nonlinear transmission lines for pulse shaping in silicon. IEEE J. Solid State Circuits 40(3), 744–752 (2005)
- Mostafa, S.I.: Analytical study for the ability of nonlinear transmission lines to generate solitons. Chaos Solitons Fract. 39, 2125–2132 (2009)
- Malwe, B.H., Gambo, B., Doka, S.Y., Kofane, T.C.: Soliton wave solutions for the nonlinear transmission line using Kudryashov method and (*G'*/*G*)-expansion method. Appl. Math. Comput. 239, 299–309 (2014)
- Kengne, E., Lakhssassi, A.: Analytical studies of soliton pulses along two-dimensional coupled nonlinear transmission lines. Chaos Solitons Fract. 73, 191–201 (2015)
- Kengne, E., Malomed, B.A., Chui, S.T., Liu, W.M.: Solitary signals in electrical nonlinear transmission line. J. Math. Phys. 48, 013508 (2007)
- Yang, Z., Hon, B.Y.C.: An improved modified extended tanh function method. Z. Naturforsch 61, 103–115 (2006)
- Sekulic, D.L., Satoric, M.V., Zivanov, M.B., Bajic, J.S.: Soliton-like pulses along electrical nonlinear transmission line. Electron. Electr. Eng. 121, 53–58 (2012)
- Ablowitz, M.J., Clarkson, P.A.: Soliton, Nonlinear Evolution Equations and Inverse Scattering Transform. Cambridg University Press, New York (1991)
- Vakhnenko, V.O., Parkes, E.J., Morrison, A.J.: A Backlund transformation and the inverse scattering transform method for the generalized Vakhnenko equation. Chaos Solitons Fract. 17, 683 (2003)
- Hirota, R.: Direct method of finding exact solutions of nonlinear evolution equations. In: Bulloygh, R., Coudrey, P. (eds.) Bäcklund Transformation. Springer, Berlin (1980)
- Jawad, M.A.M., Petkovic, M.D., Biswas, A.: Modified simple equation method for nonlinear evolution equations. Appl. Math. Comput. 217, 869–877 (2010)
- Zayed, E.M.E., Arnous, A.H.: Exact traveling wave solutions of nonlinear PDEs in mathematical physics using the modified simple equation method. Appl. Appl. Math. 8(2), 553–572 (2013)
- 22. Wang, M.L., Li, X., Zhang, J.: The (G'/G)-expansion method and traveling wave solutions of nonlinear evolution equations in mathematical physics. Phys. Lett. A **372**, 417–423 (2008)
- Liu, C.S.: Trial equationmethod to nonlinear evolution equations with rank inhomogeneous: mathematical discussions and its applications. Commun. Theor. Phys. 45, 219–223 (2006)